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







 


Name No.: R: M:

PRAGATHI EDUCATIONAL INSTITUTIONS
DIV TEST - 8             (06.04.2015) ( SGT)   AVANIGADDA       08671-272474


 



 





 
 








 





 
 











  


 
 

 


 
 


 
 


 




       


 






   











   



   

         


   
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



   


 
 


   


  


 
 

        


 
 


 






  


 
 


  

    


   


  


 
 


   

 
   


   


 
 
 
 
 
 


  


   






EM dashSami colonBraketExcahmatory Mark

 
   


  

  
 
 


 
 




 

 


   


   





   
       

‘x’ 
‘y’ 

x+y=10 x+2y=10 2x+y=10 x+y=11



   

7 - x/2  >  5x/3  - 6 x
x>6 x<6 x<-6 

(3x-2) / 4 <5  wx   x 
   

3x+5y+15=0 
 
 

2x-3y=8 4x-6y=9 
 
 

x12+6x > 0 
{-1} {1, -1} {0, 5, -2} 

7x+3 < 17
{-1, 0, 1, 2, 3} {------- -1, 0, 1}
{------, -1, 0, 1, 2} {1, 2, 3}




   
13x-12y=25 y- 

  
3x-y=3 

Q1 Q2 Q3 Q4
2x+ky-3=0, 6x + 2/3 y + 7 =0 

k = 2/3  3/2k  5k  9/2k


2x+3y-18=0 2x-3y+18=0
2x+3y+18=0 2x-3y-18=0

y=-3x 
   


 
 




   


   
         

 


   



   

ICC 


 


   



   


   




  
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
  


  


   


 


  


   


 








 
 


 
 


    


   








 
 


 
 


   


   


  




 
 


 
 


   


 
 


   


 
 




 



   

Makros 
   


 

 


 
 


 


  


 
 

Read the following passage.
The word ‘monsoon’ comes from ‘mousum’ which was used

by the Arab seamen to indicate seasonal changes in the wind
over the seas. As you have studied in science, the earth is spheri-
cal in shape Around the earth there is atmosphere which is like a
rind round a fruit. It is made up of Oxygen, nitrogen, water vapour
and a number of other gases. It is atmosphere that make the earth
a planet of life. It supplies as with the air to breathe, pratects us
from dangerous solar rays and saves us from the extremes of
heat and cold. Because of the atmosphere the sky looks so blue,
the rising sun so colourful and the rainbow so splendid the atmo-
sphere is never static but always keeps moving in a complex
way. The motion causes changes in the direction of winds and
also in the moisture content of the atmosphere.

Answer the following questions
125. Earth is a..........

1. planet with sun 2. planet with moon
3. planet with life 4. all

126. The sky looks blue because of
1. the earth 2. the atmosphere   3. the rising sun   4. all

127. The atmosphere ..........
1. keeps moving  2. is static   3. is colourful    4. all

128. The wind direction change due to
1. The spherical shape of the earth
2. The moisture content in the atmosphere
3. The motion in the atmosphere 4. all

129. In the word protects, The ‘s’ is pronounced
1. /s/ 2. /es/ 3. /z/ 4. /iz/

Read the following passage
The brain has three main divisions, each having its own par-

ticular functions. The cerebrum is the largest and best developed
section of the brain. It is made up to many areas containing cells
which control various parts of the party. some areas perform the
function of directing muscular activity. Other areas are respon-
sible for sight, hearing and speech. The cerebrum is also the
centre of intelligence and enable human beings to reason and
remember.

The cerebellum is a small section of the brain below the cere-
brum. Its function is to co-ordinate the movements of the limbs
and also to control the body balance. The Medulla oblongata is
an enlarged area which connects the brain to the spinal cord. It
serves to regulate the activites of the internal organs and controls
the involuntary muscles.  The parts  of the brain are highly
specialised. Togther they make up the complex organ that con-
trols the nervous system.

130-134. Answer the following questions.
130. The largest part of the brain is

1. The cerebellum 2. The medulla oblongata
3. The cerebrum 4. None

131. The medulla oblongata controls
1. The involuntry muscles 2. The cereblum
3. The volumtry muscles 4. The cerebrum

132. The cerebrum
1. Controls the body balance
2. Enables people to reason & remember
3. Connects the brain to the spinal cord    4. all

133. The complex ogran that controls the nervous system is
1. The brain 2. The medulla oblongata
3. The cerebellum 4. The cerebrum

134. In the word developed, The letters ‘ed’ is pronounced
1. /t/ 2. /ed/ 3. /d/ 4. /id/

Read the following passage
One of the finest stories of heroism that is known, is the story

of the boy. He worked in an eighteen - story high building-one
day, it caught fire. Every one on the lower floors got out safely,
but the people in the higher rooms could not. The boy worked his
lift up and down, through the smoke and the flames, until the
building. Weakened by the fire, began to rock. The police tried to
catch the boy and stop him from going up again becuase it was
too dangerous. But he was too quick for them and kept on doing
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his work, till the last perpson was saved. Then he slipped unno-
ticed through the crowd as though he had done nothing great.

Later, his name was published in the newspapers. The people
who were saved declared huge gifts for him, but he rejected
them saying that ghe had only done his job as a lift - boy

135-139 Answer the following questions
135. The story tells us about

1. What to do in case of fire in a tall building
2. That reward for good work done
3. The heroism of an ordinary person 4. All

136. A lift boy is one who
1. lifts heavy things 2. operates a lift
3. saves people in times of fire     4.  1 & 2

137. The police wanted to catch the lift boy because
1. They wanted to save him from danger
2. He was operating the lift without permission
3. They wanted to reward him    4. 1 & 3

138. The lift - boy did not stop his work
1. Till the last person was saved   2. Till the lift started to rock
3. Till the police caught him 4. All

139. Cease, close, conclude and finish are synonyms of
1. catch 2. weakened 3. try 4. stop
140-152 Choose the suitable degrees of comparisons

140. Uday is not one of the cleverest girls in the class
1. Some girls of the class are cleverer than uday
2. Uday is less clever than some other girls of the class
3. Uday is not so clever as some other grils of the class  4. All

141. No other metal is as useful as iron
1. Iron is more useful than any other metal
2. Iron is the most useful of all metals
3. Iron is not useful than anymetal 4. 1 & 2

142. Usha Kiran is not the tallest of all the buildings in the city.
1. Usha kiran is not taller than some other buildings in the city
2. Usha Kiran is less tall than some other buildings in the city
3. Some other buildings in the city are perhaps taller than usha kiran
4. All

143. Akbar was one of the greatest kings.
1. Akbar was perhaps greater than most other kings.
2. Akbar was not greater than many other kings
3. Akbar was greater than most other kings 4. All

144. He loves all his sons equally well.
1. He does not love any of his sons better than the others.
2. He loves as equally as others
3. He loves as equally his sons as others 4. none

145. Some beans are at least as nutritious as meat.
1. Meat is more nutritious than some beans
2. Meat is not more nutritious than some beans
3. Meat is nutritious than some beans 4. All

146. Iam as strong as he
1. He is not stronger than I       2. He is stronger than I
3. He is at least as stronger as I 4. All

147. I know him quite as well as you do
1. You know him better than I  2. He know me better than I
3. You donot know him better than I 4. All

148. Australia is the largest island in the world
1. No other island in the world is so large as Australia
2. Australis is larger than any other island in the world
3. Australis is less large than many other islands in the world
4. 1 & 2

149. Soya beans are at least as nutritious as meat
1. Meat is at least more nutritious soya beans
2. Meat is not more nutritious than soya beans
3. Meat is less more nutritious than soya beans   4. all

150. He is as wise as soloman
1. Soloman was not wiser than he 2. Solomon is more wise than he
 3. Solomon was wiser than he 4. None

151. Some boys are at leats as industrious as Raju.
1. Raju is more industrious than some other boys
2. Raju is not the most industrious boy
3. Raju is not more industrious than some other boys 4. 2 & 3

152. Shakuntalam is the best drama in sanskrit
1. Shakuntalam is better than any other drama in sanskrit
2. No other drama in sanskrit is so good as Shakuntalam
3. Both 1 & 2 4. No form

153. Active - vocabulary presents in a prose lesson - plan with help of
1. pictures 2. charts   3. computers  4. substitution tables

154. Micro - teaching is a technique is used
1. to teach school - pupils 2. to teach teacher - traines
3. to teach in service teachers 4 all

155. A unit is a comprehensive part that deals with one topic or
theme is called

1. lesson-plan 2. period plan 3. unit plan 4. year plan

156. TOEFL is a best example of
1. achievement tests 2. placement tests
3. diagnostic tests 4. proficiency tests

157. .......... tests help us a lot in diagnosing students needs.
1. Testing pronuncian 2. Testing listening
3. Testing speaking 4. Testing grammar

158. If the pronunciation test tests only pronunciation, the test is
1. valid 2. reliable 3. scorable  3. economical

159. Dictation is one of the easiest test to use and it does not given
a very good information of

1. listening 2 speaking 3. reading 4. writing








   


  


 

“Testum” 
   


   


   


   

       
  


   



A B+ B A+










A A+ B B+


 
 

 


 
 
   


   

 





            



  



   


   


   







Q.No Ans Q.No Ans Q.No Ans Q.No Ans
1 2 46 3 91 2 136 2
2 3 47 4 92 2 137 1
3 4 48 2 93 3 138 1
4 2 49 4 94 2 139 4
5 3 50 3 95 1 140 4
6 4 51 4 96 3 141 2
7 2 52 2 97 4 142 4
8 4 53 2 98 2 143 3
9 2 54 2 99 1 144 1

10 3 55 2 100 2 145 2
11 3 56 3 101 1 146 1
12 1 57 2 102 2 147 3
13 4 58 3 103 4 148 4
14 2 59 4 104 1 149 2
15 3 60 4 105 2 150 1
16 2 61 3 106 1 151 4
17 2 62 1 107 2 152 3
18 4 63 4 108 3 153 1
19 1 64 3 109 3 154 2
20 4 65 3 110 2 155 3
21 3 66 3 111 3 156 4
22 4 67 2 112 3 157 4
23 1 68 2 113 4 158 1
24 2 69 1 114 1 159 2
25 2 70 1 115 3 160 4
26 1 71 4 116 2 161 2
27 2 72 2 117 1 162 1
28 1 73 2 118 4 163 4
29 1 74 4 119 2 164 2
30 4 75 3 120 1 165 2
31 2 76 1 121 4 166 3
32 3 77 3 122 3 167 3
33 1 78 3 123 3 168 1
34 2 79 4 124 2 169 1
35 4 80 2 125 3 170 2
36 1 81 4 126 2 171 2
37 3 82 1 127 1 172 4
38 2 83 2 128 2 173 1
39 2 84 4 129 1 174 2
40 2 85 4 130 3 175 3
41 2 86 1 131 1 176 2
42 3 87 4 132 2 177 2
43 2 88 2 133 1 178 1
44 1 89 3 134 1 179 4
45 4 90 1 135 3 180 3
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